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Minor Test - 03

Hferaey 3ie : 300
Maximum Marks: 300

_—" |NSTRUCTION TO CANDIDATES

mns 150 questions.
" All questions ar compulsory and carry equal marks.

)
The paper carries negative marking 1/3 mark will be deducted for each

I
wiong answer. .
i Before you start {0 ansWer the questions you must checkup this Booklet

and ensure that it contains all the pates and see that no page is missing
or repeated. If you find any defect in this Booklet, you must get it
replaced immediately.
5. You will be supplied the Answer-Sheet separately by the Tnvigilator.
You must complete and code the details of name, Roll Number on
Side-] of the Answer-Sheet carefully. You must also put your signature
and Left-Hand thumb actually start answering the questions. These
instructions must be fully compwith, failing which, your Answer Sheet
will not be evaluated and you will be awarded "ZERO" mark.
6. Answers must be shown by completely blankening the corresponding
ovals on Side-Il of the Answer-Sheet against the relevant question
number by Black/Blue Ball point Pen only. Answers which are not
shown by Black/Blue Ball point Pen will not be awarded any mark.
T Amachine wil reade the coded information in the OMR Answer Sheet.
[rf cse the information is incomplete or different from the information
gvenin the application form, such candidate will be awarded "ZERO"
mark,
' Ee Answer-Sheet must be handed over to the Invigilator before you
0 F:JE the Examination Hall, -
a dirdeam ?Umpl)’ with any of the above instructions will render a
10 The mm‘:nh&t?le to such action/penalty as may be deemed fit. o
s l:_Tln which the different questions are to be answere 13;
i Plained at the back of this Booklet which you should rea

1. Ang el_y hzfore actually answering the questions.

- u can. Some
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Questions as quickly and as carefully as yo &
¢ on mmay be_d‘fﬁCult and others easy. Do not spend too ™!
12, Ng ryp, - dUStion.

WO %ok is 1o be done on the Answer-Sheet. Spacew for 10
. "Mobije 1 provided below the questions.
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1 T2
A) 1984 (2)19%
(3) 1999 (4) 2001

b o o S AT

._‘.J‘ﬂ.muw Mf._‘__ %W,M

(1) ICAR
) CSIR
(3)11sc
(4) NISER

3 TR S AgEYE .&ﬂ%ﬂ&ﬂ&ﬂ%mﬁmwéﬂa
% 7 32 Wi feaerd o B9 H T foe e e,
oo . 3 g o TR IY SITEET

Match List-I with List-II.
List-I List-]I
(Research Center) (Location)

(A) Rice Research Center (1) Jodhpur
(B) Isabgol Research Center (2) Jaisalmer
(C) Sorghum Research Center (3) Jalore
(D) Fodder Seed Production (4) Udaipur

Farm (5) Banswara
A B € D

(1) 3 1 4 2

)5 1 4 2

3) 1 2 3 4

4 4 3 > 2

Which of the following is not the Regional Research
Center of Kajri?

(1) Pali (2) Bhyj

(3) Ladakh

The National Camel Research Center is located at

(4) Barmer

Joharbid, Bikaner. It was initially established here as
the Camel Project Directorate, which was upgraded to
the National Camel Research Center in the VR b isins
(1) 1984 (2) 1995

(3) 1999 (4) 2001 _

The Central Electronics Engineering wnvag 5&23 _
located at Pilani is a constityent of which of .w«.
following? . f.o v
(D) ICAR
(2) CSIR
(1) HSC
() NISER
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Minor Test-03

At which of
the
Research Statj a__aism places the Livestock
10n jg lo ;
ated in the state?

(i) Nohar

(i) Mandor (ii) Kodamdesar

Codes- (iv) Bojunda

" A__w @.E @ @ i), Gii) & (v)
W &wW) @ ), Gi), i) & @

The £
._a false statement regarding Avni Lekhra is-

(i) Perabadminton player Avni Lekhra belongs '
Jaipur.

(ii) He was awarded the Major Dhyanchand Khel Ratnd
Award in the year 2021.

Code :

(1) only (1)

(3) Both (i) and (i)

The only player from Rajasthan who was honored with

(2) only (ii)
(4) Neither (i) nor (ii)

the 'Rajasthan State Khel Ratna Award'-

(1) Devendra Jhajharia  (2) Limbaram

(3) Dr. Kami Singh (4) Gopal Saini

India's first para athlete who won two gold and one

silver medal in paralympic Games-

(1) Sunder Singh Gurjar

(2) Sandeep Singh Mann

3) Devendr Jhajharia

4 Manjubala

Choose the am%ua:& from the following-

Player Related game
1) R:am_ Jat - Racewalk

( g Panwar - Shootin

@ pivyassh &% o
Shyam gunda” gwami - Para Archery
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10.

11.

12,

14,

14.

13

Which of the following is the left bank tributary o

Chambal river?
(2) Alania

(4) Kalisindh

(1) Bamni

(3) Kunu
Which lake of Rajasthan is not included under the

National Lake Conservation Scheme?

(2) Jaisamand

(4) Anasagar

(1) Fateh Sagar
(3) E.nwoum
Which is not the traditional method of water
conservation in Rajasthan?

(1) Nehta (2) Nadi

(3) Tanka (4) Nali

Which is not the specialty of mixed red and black soil?
(1) There is deficiency of lime, nitrogen and
Phosphorous in this soil.

(2) Its particles are coarse

(3) It is found in Dungarpur, Chittorgarh, Bhilwara
districts

(4) It is suitable for cotton, sugarcane and maize.
Which of the following rivers is a part of the Arabian
Sea drainage system?
(1) Guhiya

(3) Banganga

(2) Bedach
(4) Ruparela

Which drainage system is spread over the maximum

area in Rajasthan?

(1) Internal drainage system

(2) Bay of Bengal drainage system
(3) Arabian Sea drainage system

(4) none of these

i~
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Minor Test-03
Match Li <
st it g gy ,_
list T |
list 11 |
(A) Kolayat ’
1. Jaisalmer
(B) Kavod .
2. Udaipur
C)S
(©) Swacoomapaes . . 3. jodhpur
) Saee 4. Bikaner
A B C p
Auv 4 1 2 3
@1 4 3 2

What is the correct ascending order of rivers in
Rajasthan in terms of drainage area?
(1) Mahi > Chambal > Luni > Banas
(2) Mahi > Luni > Chambal > Banas
(3) Mahi > Luni > Banas > Chambal
(4) Mahi > Chambal > Banas > Luni

Which of the following is not correctly matched?

(1) Jakham Dam Pratapgarh
(2) Jawai Dam Jalore
(3) Rana Pratap Sagar QEE.
(4) Panchna Dam Karauli
Which of the following is not correctly matched?
. source
- : Hill of Divar
(1) Kothar! il ot B
(2) Banas i
3 m&m.n_u i *Hill of Amrory
(4) Mahl %& method of water cons
What i the n&a fod €MVatiop
E..m_mauaama orth Jaisalmer callegy
Ty ) Khadin
OB (4) Berry
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Is correctly matched-
(1) Aridi Souls - Sawai Madhopur, Bharatpur, Aly,,

e

(2) Alsi Souls - Jaipur, Dausa, Alwar
(3) Inceptisols - Sirohi, Pali, Udaipur

(4) Vertisols - Kota, Bundi, Baran
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Which of the following types of soil problem is not
seen in Rajasthan?
(1) Alkalinity

(3) Salinity

Rikhia, Byavle, Jamma, Neja etc. are related to which

(2) Acidity
(4) Bean problem

folk deity?
(1) Gogaji
(3) Mehaji Mangalia

(2) Pabuji
(4) Ramdeviji
Which of the following folk deities and their related
places is not correctly matched?
Folk deity Related
(1) Hadbuji - Bhundel Places
Reedi Village
Chalkna

(2) Biggaji #
(3) Veer Kalla Rathod -
(4) Mehaji Mangalia - Bapanj

Which of the given statements js inconsistent with

respect to Pabuji?

(1) A fair is organized in Kolumand (Phalodi) on

Bhadrapada Krishna Nayam; in the memory of
Pabuji.

(2) The Raika/Rebari cagte considers Pabuji as their

deity.

(3) Pabuji's Pad is recited wig 5 musical instrument

called Ravana Hattpy,-
Pabujj, iR M

Kalam Academy, Sikar _7 . S
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3 %ﬂ&@ﬂ. 26. Please Mate e v
A () g-11 (37 ¥€) List-I (Fol cmg | |
(A) 7 TSt (1) e (A) Veer wmzm_.m r_mr:.ﬁm_:r Place)
(B) <@ @1l (2) FHATE (B) Dev By, (1) Asind
(O cusl (3) TEATSIEr (C) Jhunjha Mw w a_o_g._: |
(YR Sk (x) Devnarayqy (4) m“m ’
fored : Alternative ,
A B C D A B 5 5
(1) 4 3 2 I )4 e _
2 3 4 2 | Q3 &,
@4 3 12 G4 e, o
@3 A4 _ 2 @3 S 2
27, TS At % € 47 27.  Who was the teacher of folk diety Tallinathji?
(1) AR T (1) Jalandhar Rao
(2) T TG (2) Guru Gorakhnath
(3) A (3) Mallinathji
(4) TR (4) Jhardaji
8. A @ fra wifeEd % g faerd a9 & g e | 28. Which of the following revolutionary along with Rash
1915 . were it = AT peiii Behari Bose planned an armed revolution in 1915 AD?
(1) SRR fgg arEe (1) Zorawar Singh Barhath
(2) TR T TS (2) Damodar Das Rathi
(3) o GF< (e (3) Bal Mukund Bissa
(4) MrorefEE T (4) Gopal Singh Kharwa
10 Frmified UM I fa4id 9 < Teifg e A =@ | 29. Which of the following is not correctly mat
i & §2 between the vibhuti of Rajasthan and their resp
fieldof Wk
(1) ey e - e e (1) Gawl i MUt A%
(2) ¥, fmegm o - Srgmel (2) Pt Harit™ §.= Sharma - Architecture
(3) et e - Fir gt 3) Naaw_ Kothar1 - H”,o_w Culture
(4) Raté? hastri - Girl Child Education

u——u VNQ_
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30.

3

32,

Which of the following statements is a false statemen?

(1) Allah Jilai Bai on B.B.C. The Court Singer Awarg
was conferred by London in 1983 AD.

(2) Damodar Das Rathi established the branch of Arya
Samaj in Beawar in 1921,

(3) Durgadas Rathore formed the Rathore-Sisodia

Scanned with CamScanner

alliance against Akbar.
(4) Balmukund Bissa is called "Jatindas of Rajasthan”,
Which of the following Prajamandal or Lok Parishad
was established outside Rajasthan?
(1) Sirohi (2) Bikaner
(3) Bharatpur
True code-
(1) only 2
(2)1and 2
3)2and 3
(4) 1,2 and 3
The women named Surajdevi, Savitridevi, Ramadevi,
Krishna Kumari and Dayavati were related to which
Praja Mandal?
(1) Hadoti Praja Manda]
(2) Mewar Praja Manda]
(3) Jaipur Praja Manda]
(4) Marwar Praja Mandal

Which of the following is not correctly matched?

Prajamanda] First Presiden;
(1) Bharatpur - Gopilal Yaday
(2) Dholpur

- Vridishankar Trived;
(3) Mewar

(4) Bundi

- Balwant Singh M chta
- Kantilal Chouthanj

Academy, Sikar | Jaipyr
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(1) 31 T =i g (feeet) feaa amarg
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(2) TEF qE0 ATGEAYH A a9 F AT §
ga|

(3) 39F AR ATIITH F A TRIE F F9FH 51

fegfq Wt eyl 1 /@S fohar 74|

(4) o TN Ay FeawR 1920 1 TR # Ao

TRTETE Sita (1888 3.) H TsEE m«:? Minor Test-03

4. Didp
O Parti.:
pat 33 a representative

the Allahy
bag «.. .
mm.n,..ma: of the Congress (1888 AD)?

of Rajasthan in

35. Whi
'ohof the _.ozoq..mum is a false statement with

TEfErence to Rejputan Madhya Bharat Sabha?

(1) Tt was established in the Marwari Library located
in Chandni Chowk (Dethi).

(2) Its third session was held under the chairmanship
of Jamnalal Bajaj.

(3) During its Nagpur session, an exhibition was
organized on the condition of the farmers of
Rajasthan.

4 Its second session was held in December 1920 at

Bl Ajmer.

%, foer i 4 Fr R Ao foT 7 Foer TR | 36, Which ofhe following princely states or places were

i =reon 4 2 merged in the second phase of integration?

(1) e o et (1) Neerad® ﬁ_B w.:oE

(3) Fery (4) TS @uapr (Rt
.t 1w i 7@ 272 37, Whichofthe folowing 15 met correctly matched?

. o Union Primeminister

(1) ...ﬁdﬂf:m a1 - (1) East wu.._ﬁ?s Union - Gokullal Asawy

£ T4 dﬂﬂj : g Qarﬁ_ _E.&.E:. - Manikyala] Vermga

(3) H& _ T - () yaied _aa%q wh.._.,.w?:- Hiralal Shagy

i ﬁm.,ﬂ MHN, ) A i) Association - Shobharay, W:Emﬂ.mﬂ
B
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e Uit ST ﬁ%ﬁwﬁg Minor Test.(3
38, T H | o6 A 772 38.  Which of the following is a false statement?
(1) gﬂmﬂgw%mﬁgﬂm@ﬂ@g R (1) The princely state of Jodhpur was the largest
princely state in Rajputana,
(2) 30 =1 T TSI e F w0y b T S | (2) March 30 is celebrated as Rajasthan Day,
(3) TRAT % F4H TEw Ty TTeiferg 9 | (3) The first Maharaj Pramukh of Rajasthan wag
. Bhupal Singh.
(4) IR T T ﬂmﬂgﬁﬂﬁzﬂﬂ SR o T (4) The United Rajasthan Union was inaugurated by
0 Sardar Patel.
39. wﬁmﬂﬁdﬁmﬂmﬁ%w%ﬁﬂgﬁﬂﬂ% 39. Which of the following archaeologists did the
e 2 excavation work at the Ganeshwar civilization site?
(1) TT=: ST T <t . frgy (1) Ratnachandra Agrawal and V.N. Mishra
(2) reReT st o forem o (2) Neelratna Banerjee and Vijay Kumar
(3) TwTEs TSI e ooy g (3) Ratnachandra Agarwal and Vijay Kumar
(4) 3. T T T Saraey (4) B.B. Lal and Ratnachandra Agarwal
40. = H | S KU E R TR F2RT T ¥ 140. Which of the following archaeological remains has not
IS &l 37§ 7 . been found from the Ganeshwar civilization sjte?
(1) et 7 et 1 ¥ SHeigpa g (1) Pottery decorated with black and blue colos
(2) Tt TR forrgea amft (2) Double helical veined tambourine
(3) 1o Fegtey m.n.mﬁ 2 (3) Bricks used in building construction
(4) it ¥ w58 (4) Earthen Ring Pots
41, TR g & L Qe FHTE? 41. Whichis a false Statement in the context of Ganeshwar

(1) TR wer 3 foarfidt 91 A9 @9 ST oG A
fafaa =0t =1 3 a1 ,
(2) 7% o st e A A

3) iﬂﬂﬂﬁﬂﬁs&ﬂaﬁm_

4) 6 2 i oy miemerd @/

civilization?
(1) The inhabitants of the Ganeshwar civilization had
the knowledge of mixing other metals with copper.

(2) It is the oldest civilization among the Copper Age
cultures.

(3) Small stone tools have also been received from
here. _

(4) The residents here were probably :on.ﬁwmsam:. :

— IR

7 Academy, Sikar | Jaipur
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43.

44,

45.

46.

7 Minor Test-03

Which

i Of the following N
advendr m_ES% g works is not related to
(1) Bo Bharmy; .
(@) Chakye ki ,,,
(3) Widmbp,
(4) hoon g0ri kin Sk
s language did Bundi King Budh Singh
COmPpose a ritua] book named ‘Nehatrang'?
(1) Mewati language
(2) Dhundhar language
(3) Gaudwadi language
(4) Braj language
Which of the following is not correctly matched?
Composition Creator
(1) Senani - Meghraj Mukul
(2) History of Marwar State - Zahoor Khan Mehar
(3) Durgadas Charitra - Kesari Singh Barhath
(4) Gajgun Rupak . Keshavdas Garden
n which of the following composition the battle of
GiriS umel and Dharamat 1S mentioned?
(1) Sagat Res?
(2) Ran? Chiand
G) e mawww”m Duha
“ c_av zwq”o_as.am composition is compared to
45%: QQ_Q. b Abul Fazl?
A A '
et
L
2) i *_E_.w.zxam_: Ri
)] é:cg pargana Ri vigat
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g STt 37eATTH pﬂ._"d.@%._. Mﬁﬂqﬂﬂrwomu Minor ‘_Jmmz..._
47. TEEEA e Tyey T % vy 4 afirh | 47. Which ruler of Rajputana first signed the Instrume,
LE] ﬂﬁmaw “ of Accession in favor of India?
o (1 Shardul Sing
(2) T3 e (2) Hanuwant Singh
. anuwe
(3) @i foe m .
. m (3) Laxman Singh
(4) wEron s[ure foe :
e (4) Maharana Bhupal Singh
48, W SNUI-2022-23 ' :
- ) T & Y I e we | 48. Where is the Nehru Yuva Transit and Facilitatioy
THETeRTT S T T 1 Ty 3 s ey . :
7 Center being built in compliance with the budget
announcement-2022-23?
(1) S 2 :
, (2) SR (1) Jaipur (2) Udaipur
(3) % feeit @) W _M : :
o (3) New Delhi (4) Prayagraj
49 et T i i
. el RO e 49.  Where was the Rajiv Gandhi Rural Olympic Games
’ . inaugurated?
1) e T, ;
(1) o RAQ (1) Pal village, Jodhpur
2) 99 Mg :
(2) » S (2) Choup village, Jaipur
(3) TIER, qret (3) Rankhar, Pali
(4) 7Rom, AR (4) Narena, Jaipur
50. 37T 2022 H st oy fesne & 3Nm 50. indi
i o The first indigenously made agriculture drone was
H g TR e 1 5 g sh . i o
own during the Rajasthan Digifest to be held in
& August 2022. The name of this drone is-
(1) Tfae g (1) Hybrid Drope
(2) fama g (2) Visoron Drone
3) =g ) (3) Sky Drone
(4) 7 2 (4) Shakti Drope
51 A - . @ A | 51, Ujaas campaion ie b
ﬁﬂﬂ?ﬂiﬁﬂ?ﬂm@dﬂlwﬂdﬂwﬂ@ . YIS campaign is being ryp for the purpose of
. G roviding electrie:
dﬁﬂqﬂuﬁm‘d& ﬁ?ﬂﬂdﬂ.w«@ﬂ?@ I ..:m. r_rr.:r:v, to government schools, this
; AMPAIEN s being e e
ey (1) Alwar Mg run in which district of the state?
:v Alwat
o ” (2) Pratapgarh
um u -n s
O e
(4) Jhalawar
(%) wetrrs

—— i EAAAEE b

__—ncademy, Sikar [ Jaipur  ——nu____
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2.

s
l:.nJ

54.

55.

56.

i%ﬁwﬂﬁmﬂ-uos

gt
a&s@ﬁﬂ%%g&%wgﬂz?ﬂws?

smﬁﬁmﬂmﬂﬁm@m%ﬂa&&%ﬂmﬂﬁﬂ%
mﬁm%ﬂ"@mﬁm%ﬁ%ﬂ@ﬁﬁmwa@
37
S.a@.ﬁ,g%

Eﬂﬁa%

(3 iR, SNEE

4y e,

i Tt < g A OO T
!

EQHQEALSN

(2) 6 T, 2022

(3) 19 e, 2022

(4) 2 Taawr, 2022
gﬂﬂwommmwﬁ_q@md%ﬂ%dm@%w
) e 1 ST e €2

(1) 148 R (2) 1591 FE

(3) 1891 e (4) 2191 HER

e S e T Fh frererl # i e ot (RTE
o) 3 e &g e §-

(1) 317 gmr fAeifa et € |

(2) A 3 T SAfereham 6 o -

(3) = 5 7 sfiyehan 7 a9

(4) =7m 5 = sfiysmam 6 4

o o e 1 9 i g 1 90 570
T % s1gar RTE f:3709 73 8-

g

(2 2)3 &

o Aswn_ QN.%%@

e Kalam Academy, SIE**

!

23

54.

55,

56.

% Minor Test-03

s._m r
Rural GSG_SE i released by the Ministry of
. en, |
distrigtg o " fiancial year 2021-2, he

f Raj
Jas
respectively than ranked second and third

in the : 2)
to the Maxiy Country in providing employment

1l
e of il unde MNREGA?
v mﬁ:nﬂ. amwo?.

(2) Barmer, Ngyy,

(3) Nagaur, Jodhpur

(4) Nagau, Pl

When was the Chief Minister Chiranjeevi Jeevan
Raksha Yojana launched?

(1) September 9, 2022

(2) September 6, 2022

(3) September 19, 2022

(4) September 2, 2022

Which edition of National Scout Guide J
in Rohat, Pali in January

amboree 1S

proposed to be organized
20237

(1) 14th edition

(3) 18th edition

(2) 15th edition
(4) 21st edition

The age (imit for free admission (RTE Admission) in
* .+ ate schools of Rajasthan is-
anom_._n&_ e

it is 00t prescribed.
" 3 years Maximum 6 years
years Maximum 7 years

i 3
3 E. syars Maximum 6 years

Mini™ :
) 59 adnissions are to be made in a private

otal 07
[fat cording t0 the roster, there will be RTE
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%g_wﬁaﬂiggwm%ﬂ

5

39.

60.

61.

-2022

et feramera 4 RTE MR vy 3% vy e 3 |
@m:@mﬁﬂ_ﬂmﬂﬁﬁﬁg_ |

(12 2)3

wﬂﬁaﬁmﬁg@mﬁ%gﬁ%ﬁﬁJ

Eﬂm_ﬂaﬁmﬁmﬂgﬁﬂﬁ%ﬁﬂ

1B ® 19 g A 15 1157 e g # qen i B |
H 25 ST W gu R A RTE %3 ot st gt
o fere e o sy @)

>y
*:

o o e A

(1) &ae a A% 15 Ao

2) %>W§_m§mﬁww§?§m%ﬁ
el AT Y Tema

(3) < ME & |t 40 AT St

(4) T A% HT 15 e = 71 B3 25 4 & Yoex frw
T TS 5 STeThl @ THea

Freft ererera # £41: Yo o = v o gt ) dm

TR 3 STYR T =G Gl FHiH ST B 87

(1) Tt~ fommd

(2) raifer frem foren srfererrdt
(3) T TR W e e o
(4) T TR W NIC

Poef frerera 3 firs e i 3 ferg @ ST G0
ﬂﬂiﬂ%ﬂﬁg%m%ﬁgé
ﬁaﬂ

(1188 @2
3)4 @5
mﬂm@&iﬁﬁﬂm@_.&%
(1) s __@mmmm

57.

58.

39,

60.

6l.

ill be H
Th ifcalion for RTE free admission i E_ﬁg
Ve

ﬁ@mmnm_
Is.
schoo By
N2
Muw A 4)1
There are total 80 seats in the entry class in schog] .
1ere

the name of the village in which the school is oy
en

is A and the name of another village of Gram Panchayy

is B. If 15 applications are received from village A

and 25 applications are received from village B, they

which applicants will be rendered in the first list?

(1) Only 15 child from village A

(2) All 15 applicants from village A and fisst §
applicants from village B

(3) All the 40 children of both villages

(4) All 15 children from village A and § rendered
children from 25 children of village B

Who issues the selection list on the basis of roster after

preparing the merit list for free admission in private
schools?

(1) Related schoo]
(2) Concerned Distrigt Education Officer

(3) School Education Counci at
(4) NIC at state Jeye]

the state level

What is the Maximum number of schools in which u
parent can apply for free admissiop j
for his child?
(H1
(3)4

In a private m%oa“

(1) Digitizer
(3) Plotter

)Ty —— Academy, Sikar | Jaipur

qumber of members in the teay,
0
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(1) Vital Interface Research Under System
(2Vital Interface Resources Under Siege
(3) Vital Information Research Under System

(4) Vital Information Resources Under Siege

. ﬁﬁmﬂ&ﬂm%ﬂmﬂ@ﬁﬂ ayfrR Forammatt
2011 % fam Mm%ﬂmq@mﬁﬂ%dﬁﬂ%

W T gt ?
(1) 37y wied 14
(2) emgy wied 15
(3) werg wfeq 16
(4) sty wfew 17
5. T e e 35 R A

(1) S Fpe 3 worrdr e
() Fewr, RSCERT SeaW
©) frer, sefires Frem

(4) Srres sy

b S

62.

63.

64.

63.

66.

67.

Qs

Minor Test-03

Which o he
Softwapg) OWing is an example of application
@ 5552 (2) Pagemaker
What i e (4) Anti virus program
Smallegt
(1) By St unit of memory?
; 2) Bit
(3) Nibje (
(4) Mega Byte

Which of
e following is not an impact printer?
(1) Chain Prge

(2) Drum Prpge
(3) Daisy Wheal Printer

(4) Laser Printer

What is the expanded form of VIRUS?

(1) Vital Interface Research Under System

(2) Vital Interface Resources Under Siege

(3) Vital Information Research Under System

(4) Vital Information Resources Under Siege

pumber of members of the State Advisory Council

The

constituted under Rule 28 of the Rajasthan Right of

Children
will be?
( 1) (4 __%_:aum the President

o) 5 _.%En__.bm the President
ading the chairman

to Free and Compulsory Education Rule 2011

QI
ar m%& oy 0 charge of Elementary Education
(1) % : RSCERT Udaipur
piree™

m_nEnEmQ Education

etth
Ev Eu.o”%n above
wehs

Jl...l....:.r
rage # 15
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69.

70.

RLE o
ﬂﬂgﬁﬂ%@@i
1 T3y ety

No:w«gjﬁﬁﬁmﬂaﬂ
1 A TET ) forfre
(1) e 17

(2) fram 22

(3) fam 25

(4) f7m 29

R A ST 31 ft
2011 3 o et = 5 e g e
¥ 3pfEa 8 ?

(1) 91T 5

(2) 9T 6

(3) w7

(4) M1 8

e Figes | ot are e aft
B:%ﬁ%aﬂﬂ&ﬂ?ﬂ@ﬁ@%ﬂ
T3} IO T T S .o
E%ﬂq&aﬂﬂ%

" QA1 2~

-

68.

69.

70.

71.

N
gl Sruft

ﬁﬁaﬂiﬂﬁwﬁﬂﬁ
68. ﬁﬂﬁﬁj?n@‘ﬁﬂmﬁ ,ﬂﬁﬂ._uﬂ 2027

Minor Test-(3

. of Rajasthan Right of Children to

Under whic .
Free and Compulsory Education Rule 2011, the state
government will request the central government to
relax the minimum E_m:mom:os of teachers?
(1) Rule 17
(2) Rule 22
(3) Rule 25
(4) Rule 29

n Right of Children to

of the Rajastha
y Education Rule 2011, subject

on of elementary education

[n which part
Free and Compulsor

curriculum and completi

is mentioned?
(1) Part 5
(2) Part 6
(3) Part 7

(4) Part 8
he Rajasthan Right of Children to Free

ation Rule 2011, the basis of the

hild on completion of

According to t
and Compulsory Educ
certificate given to the ¢
elementary education will be-
(1) Final Summative Assessment
(2) Portfolio record

(3) Student Cumulative Records

4) m:m.&os_

Which of the following is not a general principle of

teaching-learning?
(1) Principle of correlation with real life

" (2) Theory of individual differences

(3) Theory of past experiences

(4) Principle of passivity

Page # 10

__— eademy, Sikar | Jaipur
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fg #f A A W HA 3794 ¢/

) s, T S € |
@&%,%@@%ﬁiw_
() st syl wraE & AT €
3 st & qAERI FaGTl & HTAG

%g%%w%mﬂ%wu

&

() srrem fisfy grg e fedn Sl Tl
3 5 i w1 9 8

L g > ed i

¥ e 4, T FA
D12345 (2) 14532

) 35142 @) 25143

5

fpetferfiad A 9

32,

13

74.

75

; 76.

Which
e 3.3, the following i not 4 ¢
rndike’ relationa] learning th

(

o,
(2) hmmBEm is the result of formg
or bonds,

afacteristic of

cory?

.— . .
) roﬂzsm Involves trial and

ftion of relationships

(3) Leaming is progressye e e opaive
(4) Learning depends on ogniir

Which of the following is not another name for |
Tolman'’s learning the 7
(1) Icon learning theory |
(2) Expectancy theory

(3) Insight theory

(4) Sign Gestalt theory

Which of the following statement is false?
(1) Learning is a process.
(2) Learning is not related to maturity.

(3) Emotion guides our action.

(4) earning i related to practice and training.
pehavioral theories of learning, which

ine to
bnooaam s correct about

one of the fo
_gaam.w
ﬁ : OanQm:oa

=l t is
) KEE% _
En%&..” rved and

Tt wo ow.mmué ;

@Qﬁ. * 1 is done by interpolation method.

B en
o
e

Jlowing statements 1

and measurement cannot be done.

done by subjective psychological

measured objectively.

ence of learning process?

o 2. target achievement
ol p “
5 4. successful attempt

(b)1,4,5,3,2
d)2,5,1,4,3

l......
Page # 17
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Minor Test-03

78.

79.

30.

(4) @R

-

ﬁ?ﬂ%uﬁ@mﬁwmﬂﬂﬂ.w@%ﬁﬂzﬁ
e | Heifyd g7

(1) e =1 AT @Ry SR i

(2) sHrmeral =1 SeIfen S

(3) faeres =it feraa o arerera

(4) rferm sre7al ity

379979 & WY& 5RT SAeR W WRed e & st
Siferm =t 9% feuTan < §

(1) wI de w7

(2) frerrE A

(3) @ 3

ORIEE!

ST ) e g 4 o ) T €
(1) 731t 21 S =7 a7

(2) Wewieai & whrarfr

(3) stferr ofifefiat

i

78.

79,

80.

“One cannot learn unless one is ready” who said this?

(1) Harlock

(2) Thorndide

(3) Gesell

(4) Skinner

Which of the factors affecting learning is related to
the learner?

(1) Mental health and adjustment level of the teacher.
(2) The level of achievement motivation of the learner.
(3) Expertise on the subject of the teacher

(4) Nature of learning experiences

Learning is the change in behavior through experience
and training. This definition of learning has been given.
(1) Crow and Crow

(2) Guilford

(3) Gates

(4) Gardner

The factor that positively affects learning is-

(1) Fear of failing

(2) Competition with classmates

(3) Learning situationg

(4) Pressure from parents

cademy, Sikar | Jaipur

|Ifl.|-lf||
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na@ﬂami
ﬁ%ﬁﬁ%,ﬂﬁﬁﬂ

(= 2]

(2)CaSO,H0
(3)2CaS0,H,0

@)= =% T8l

b Eenhaad e w0 &7

[= o]
el

85, =@ = A B A

>

(2) 188 U<,

(1)18u
(3)16u (4)20u
86. wald wfaarad mﬂﬁx &1 T € S ¥
(S n _ o T WA
(1) 207 (2) n?
% (4) 20

—

Minor Test-03

81.  Whic
h of sm following Process is

Others?

(1) Magnetisation of iron

(2) Rusting of iron

(3) Fermentation

(4) Combustion

of plaster of Paris?
(1)CaS0,.2H,0
(2)CaSO,H.0
(3)2CaSO0,.H,0

(4) None of these

83. Which of the following is lightest

particle?

(1) Electron (2) Proton
(4) Neutron

| 3) Neutrin0
m 84, mmnanm X having |8 protons.
|

f electrons in Species x

number ©
(1) 22 (2)20
31 8 (#) 16

¢s.  The Molar mass of Water molecule 18
(1) 180 (2) 18g
) 160 (#)20u

g6, Themaxi™
= puit

ni:nau
Ha
3 _.,m (4) 2n

\ber of shell)

2)n

different from

" ;
8 Which one of the following is correct chemical formula

funda mental

What will be the

um pumber of electrons in the orbit is given

Il\\”“m‘“ﬂﬂ\"|

ﬂ”:p i an
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e St e oI ST S Wi,

Minor Test-3

SR

87. 1lg CO, & WAt & W3y |

//
(2) 1.5055 x 102
(4) 6.022 « 10

88. mm@ﬁmm@&ﬂ_ém@.ﬂﬂ@ﬂﬂm

(1) 4.51 x 10
(3) 3.011 x 102

(1) PRI (2) Tl ‘
Q) SR (4) formrg
§9. e 3 farerd 7o 7 s 5.
(1) S (2) e s
(3) = (4) Fow g

90. CaCl, ZifiTe & q3 T ToHHM w1 I

(1)138u (2)62u

(3)111u (4)8u

9. TS ¥ANT & WK H1g o HU FHH: 3-

(1) Aga o= (2) Aga B

(3)Aud o - (4) Aud B
92. afz fircht o o T, o el of 10 T EA
! FHA G Tt
(1) 29 @) 19

(3)8 @ 27

87.

88.

89.

90.

91,

92.

|Il|l|l|lll|-.
Number of atoms in 11g of CO, is ?

(1) 4.51 x 10 (2) 1.5055 x 102

(3) 3.011 x 102 (4) 6.022 x 102
Which of the following is found in tetraatomic form

(1) Phosphorus (2) Arsenic

(3) Sulphur (4) Bismuth

In which of the following Ratio of mass Is 3 : 8 ?
(1) Ammonia (2) Carbon dioxide
(3) Water (4) Sulphur dioxide

The value of the formula unit mass of CaCl, compound
is-
(1)138u (2)62u
(3)111u 4)8u

The metal and particle used in Rutherford's experiment
are respectively-
(1)Ag and q -particle (2) Ag and P -particle

(3)Auand o -particle  (4) Au and B -particle
If there is 9 electrons,9 protons & 10 neutrons in an

atom then it's mass number will be

(1)29 @) 19
()8 4) 27
AP & Ca' are
(1) Isotope (2) Isobar
(3) Isotone (4) None of these
The correct chemica] formula of Sodium oxide is
(1) NaO :
: 2 (2) Zwuo
Na.O
(3) Na,0, (4) NaO

Sikar | Jainuy. ——onouu A
R —40-
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w_zﬂﬁm AT UTAT 23 WMTH-2022

[ BE ¥ mwentes 3 T - by
| (1) T “fifas
(2) fort T T
(4) for O] T
06. sifzan F1 WE vEE T e b 9.
L
(1)2,8 (2)8, 2,1
3)2, 1,8 (4)2. 8.1
97, 52¢ Aferam 5 e #) dom e i ”
(1)13 (2) 15
(3) 16 (4) 18 -
o8, AR W w v e b . 9.
(1)6.022x10 %
(2) 6.22x10%
(3) 6.022x10%
(4) 6.22x10° 0
00 f 8 R WA HE 99.
(1) faes - Ag
(2) TR - Cu*
(3) TS ~ T
il SRl
100. wgmw%ﬁﬂaﬂﬂﬂﬁﬁﬂ%ﬂﬂ
(1) 38 & T8 5
ﬁqmwwdﬂ.,mquﬂm
Gvdﬂwﬂﬂdﬂmﬂ_
(4) T T I
I...J\_||| Kalam Academy, Si

L o N

Isotopes oF an elemen have-
(1) simily Physical propertics
(2) differen chemical properties
(3) differen number of neutrong
(4) different atomic number

The ¢ ;
orrect electronic nSmmEaa: T

1) 2
(2,8 28,21
(3)2.1,8 ny.

What will be the number of moles in 52g helium?
(1) 13 (2) 15
(3)16 (4) 18

What is the value of Avogadro’s number?

(1)6.022%10"

(2) 6.22x107

(3) 6.022x10”

(4) 6.22x10%

Which of the following is not correctly matched?

(1) Silver = Ag’

(2) Coppe" Cu*

(3) Nitride ~ N

A&?HBBE:E - NHS

Which of P following is not an example ofiheizal

Page % o
age # 21
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@ﬂggé
aftar 22 Wf3-202, Minor Test.q3
101. s 3 e s —
« .ﬁﬂr . n g )
BE2I] i Fﬁﬂgiwm 101, Which of the following is not an example of ,
o - 4]
:w ME (2) w7 Tﬁ“o«ommﬁmaﬂ_, mixture.
(3) g3 P (1) Milk  (2) Cloud
3
2 (3) smoke  (4) aIr
102. P #
. 102. Occursina chemical change”
|. reversible change
2. Permanent Change
— 3. State change
e Tic B
True code is-
(192
(1)l and2
(2)293
(2)2and 3
(3) 193
| (3) 1 and 3
PRNGSES (4)1.2and3
103. = e _mm:mﬁﬂﬁﬂdﬁﬁﬁ%n. 103. Consider the following statements and select the
| FeFR aE Id ¢ | correct code-
LT3 ﬂ&ﬂﬂ ¥ dm ﬂﬂm&wm_ 1. Most of the elements are solid.
II. Mercury and bromine are liquids at room
 peft 7 7 el 6 92 e W €
" temperature.
[11. Out of the known elements, 92 elements are natural
w72 - Correct code is-
(1)a=m | 4a]] (1) Only 1 & I
() et 119 11} (2) Only 11 & 1
2) &He ) v
(3) Only I X i
(3) %aa |4 |l WL
@1 n=ll gt d 104, Which of the following eleints does not have the
104, fymfarfig § 9 (g do 4 mmw& R e nutnber of sletrons, protons and neutrons.
wyEfa ) G Wi e B Al a e
H&J A.J L At:* :J ﬁ. »Cq“— i :..ﬁ.,:w.a.z pwv 7.:23
(1) ard= (2) AEEP A e
nl: ; ‘alcium
E ﬁ.ﬁ&mz: SV mﬂvqmﬂz Y (3} Alununum (4 Cale
v @
- l
Page # 22
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dva it SR ol Tgr e Wie-2022

05, -1 G- 11 F T o 105. Mateh gy,
with List.]1,
AH%I_ Sl List-[
List-11
93255 .
:Egac ;
A, Z.Q._:o:
L1J, Thomson :
B. Electrop :
i 2E Rutherford g
. Proton E
3.E.Goldstein :
D. Atomi 3
omic nucleys 41, chedwick o
Code: 2 3 " 5 m
(1) 4 1 3 A w
ﬁwv 3 4 1 s V
| 2
4) 2 3 4 1 (4) 2 3 4 { Imna
106. P H A Frar gaferd e - 106. Which of the following is not correctly matched |- I
i . )
Tl 1 Tl 2 list 1 list 2 P
(1)AGNO; - e |Iel (1) AGNO, indelible b,
2)AGl - 3 aul (Q)AGL - artificial rain
(3)AGBr - I (3) ABGr- photography
(4)AGCl - Hrerpal (4) AGCI Photo copy
_._3 P ol T AR AR T4 T BT BT =@ | 107. Consider the following statements and select the
CAINIG correct code-
the mixture is definite.
The formula of
1. fagor 1 g fafed B & | it
caC und.
i y 2.P nﬁ__ is a compo
2. Ugld Aifire 2
TP o o 5. Mote " one type of elements combine to form
3, U6 9 fyd ypR © T Sy fTE aId
g 8__%_9%&.
: . ‘_,EE Qna_n-
e n_m only (2) 2 and 3 only
3
(1) et 19 2 (2) @ael 2 @ I
(3) @ 3 4)1,273
_ e
Kalam Academy, mm_ﬁ ge # 23
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wref AT 2% Wi 5
g siuit ATE 2

Minor Test-03

e ———

e —

108. Eﬂ@@mm@ﬁmﬁ@ﬁ%ﬁﬂ%&@m&
forg wEl &
1. ffdt B B @) g o

2l
. golag| a1 Reg
w%ﬁm@w“ .ﬁﬁﬂ?ﬁ:ﬁ»
B
(1) @90 1,233 (2) Baer 1 g 4
(3) et 1T 3 (4) Bt 1, 37 4
109. %ﬁwﬁmﬂmmﬂﬂﬁgﬂmf
(1) e (2) Siedom
(3) &g (4) S
110, 3 BUF & —

(1) WA &l 9@ a1 dife &1 9 7 & W
AHIRICT Yo~ fqel ¥ 78] Y&l
(2) WA HT MHR T 10710 m W P &er &
(3) 37 WA WY N iRaw ¥ @ wedl g, e
THISH Y Y e R g1 g e o
W ¢ | |
Egﬁ@%&?&ﬁﬂﬁﬁg&w&mﬂ%
3 T one weRig v w@dl B

111, ﬁﬂ@ﬁiﬁﬂﬂ_moﬁmﬂﬂwhﬁmﬁ%mmﬁ

Iga! a9
T S 991 S e o 20% 7 T

& Y

W W g w2 £ f”u_
(1) 959 2) 65% @.w_. O
() 549, @) 60% _. = R

108. Which of the following pairs is correct for Thomson’

model-

1. The model was like a Christmas cake.

7 Atom is made of positively charged sphere ang
electrons are embedded in it. s

3. Negative and positive charges are the same in
consequence, SO atoms are mﬁoﬁom:w neutral.

4. Electrons attract each other to stabilize the atom,

Code:-

(1) 1, 2 and 3 only (2) 1 and 4 only

(3) 1 and 3 only (4) 1,3 and 4 only

109. Which element is considered as the fuel of future?
(1) Carbon (2) Oxygen

(3) Hydrogen (4) Helium

110. False statement is -
(1) An atom is a microscopic particle of an element or
compound which generally does not exist in a free state.
(2) The size of an atom is abouyt 100 m,
(3) A molecule can exist independently, whose atoms
can be separated by ordinary physical methods,
(4) Molecule is the smallest particle of 5 compound
which displays all the properties of the compound.

I11. A person saves 20% of his income, if his income

increases by 29% and his expenditure also increases

by 20%, then by what percent will his savings increase?
- (1) 95% (2) 65%
(3) 54% (4) 60%

i —Academy, Sikar | Jaipur
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12, 2 FEE A SR B e T ¢ sy 15%

113.

114.

115.

116.

o . R 329
¢ | ST BHE A ? vt Yhwmam ) o

(1) 20% (2) 80%
(3) 68% (4) 32%
Tt odien & gy %%@ﬂogﬁﬂﬂaaﬂ%ﬁﬂ
HRCRER L] 70 ST YT W ¥ 96 T8 20 37
STRIY € S R, W ot g - 7

Cr o
(1) 174 (2) 360 <
| q
(3) 125 49 225 "

Y
T sl T St 10000 R | 4fs g9 seeen § 5%

AR Afeemet * SFEEn ¥ 10% = 9fs @ @ Swen
10800 B ST, & Fe Y wfensh #t adHm SEE
foemt 872

(1) 7000 (2) 6000
(3) 8000 (4) 4000
fored T % 60% H 36 Sre W 8] T e 8 S €,
3 5% T I Hife- un%wnw%‘wh“um
P = %
(1) 75 (2) 80 %.Vm \,*
A£3) 90 (4) 100 By
afe Ad FaE B GO T 25% 9 8, A B! S A
I g fare wfewra wifvres @2 .._ﬁ_. :
(1) 20% ’ 4 &wmh_
L T 5
hv umM\c ....MYJ; o
(3) 25% -
(4) 40% B _.unrkmf.
by T

113.

114.

115.

116.

population of the town? 3
(1) 7000 (2) 6000 ; Wm |
(3) 8000 (4) 4000
i % of ber, the same ber is
Oa adding 36to 60% of a :E_“._ ¢r, the mH_HM .“c.—w ,\Umhv
: find that number- &< R
obtained, then s B 27
07 (2) 80
Gv 9 (4) 100
if %_h ._ﬂ%i.om A is 25% less than that of B, then by
" the height of B is more than that of A9
* what peree” .
(1) 20%
e
@ "
(3) 25%
@ 40%

(2) 80%

(4) 32%

_H.O pas
Sane Mination & :
Xamination, jt is necessary to obtain 40%

marks,

- A student gets 70 marks and he fails by 20
marks, then fipg the total marks-
(1) 174-
3) 125

(2) 360
(4) 225

The population of a town is 10000. If the male

popuation is increased by 5% and the female

population increased by 10% then the population will

become 10800, then what is the present female
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el At ST Wt THET 2= Hifwr-20,,

117.

118.

119.

Gl

Minor Test-(3
R

e ————

ﬁwﬁﬁsﬁ@m&&&om.mj~
gca.mﬁ%ﬂaﬁ?ﬂqﬂﬁﬁﬁwwﬂ%
A ELEL

ﬂ?%%w\%mﬁﬁﬂﬂﬁwa&?@

(1) 400 %.
(2)450%.

(3)420%.

(4)425%.
@%m&ﬂ%i%mﬂﬁﬁwoﬁ,gmﬁmﬂ
wify wfeer 1 2 \mﬂ ey
(1) 20% () 25%

2
16—9
() 163

feret aeq R fehe SfereTa gt X e ifea ¢ o 5%
g2 A & 9%t 10% 1 A E?

4) 16%

5
1) Ghlt

) za

1

4
3) a 5%

@ 152%

(i) 10% 3R 20% T SHAFTd €S
(ii) 25% 3R 5% ht FHATTG G2
(1) < g € |

() Frefia @ forran 1 wehel €
(3) 10% 3ik 20% =t AT L2 |
(4) 25% 3R 5% ot SHATT L

117.

118.

119.

N a eﬁmo.
120. T & i e - +4 { .

Anu sold an article in Rs. 480 at some profit, |f gh
sold it at Rs. 400 then there would be a class equaj of

one third of the initial profit. Find the cost price of the
article-

(1) 400 %.

(2)450%.

(3) 420 =.

(4) 425 %.
The loss on an article is 20% of the selling price, then

firid the actual loss percent?

(1) 20% ) 25%

3) aw& (4) 16%

By what percent increase the price of an article to make

a profit of 10% even after giving a discount of 5%?

1) 155%

) 35

® tore%

@ ;im

Which one is better-

(i) Successive discount of 10% and 20%
(ii) successive discount of 25% and 5%
(1) Both are equal.

(2) cannot be determined

(3) m:nnnmmzn.amnoca of 10% and 20%.

(4) Successive discount of 25% and 5%

\\\%&ﬂﬂ% Sikar | Jaipur
~7ala
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b
0 1° Q\f}.
(1) 2% (2) 4% 2
o) 5% (4) 8%
2 (e 1 54 A, 48 el % foema e 3 e .
oz &9 25% T X F HE I H? O 48 antgl 5 equal to the selling price
; Icles, if the proft is 250 then £
p Cof ' ind the value
1) 36 (2) 42 1) 36
F : @) 60 _ 4 (2)42
3) 5 | 3
(3) ; | _ (3) 54 (4) 60
0
123. mmm.mﬁm | 7.5 10 Wt e w,f‘.%_ 30% e A g @ | 123, m.uun person sells 10 oranges at Rs. | and earns 30%
) : i D
Fad 394 1 T99 H e g @die 97 y . P profit, then how many oranges did he buy in 1 rupee?
\
0 u Q7
(1) 11 2)7 (3) 13 )9
(3) 13 4)9 124. -On selling 30 articles, there is a profit equal to the
o uom&@eiﬂmmﬂﬁwwﬁﬁ%gﬁﬁﬁa *  selling price of 5 articles, then find the profit
g =t ¥ percentage-
% 4 e wfed 1A A- 4 0 e olf
seer 62 (2)20%
2 5 . (1) 1637 i
af i
~p
(1) ;w_x, (220% $ A 3) :w_x_ (4) 35%
_ £ A
o : f o
) - 7% 125, ThereareRs. 110 ina box. Whose numbers are in thy
(3) KM.X, 4 w. (] S 3. Which are in rupees of one rupee, 30
3 " . f1.9 .3 aﬂﬂmw_ g o <o then the number of 30 paise coins
15, wratg 1107 8 (frm e # 102 g paise and 25 PAISE
g o 7 €, 50
- — g 2s TaFH T A E
Ve S : o
ferri 1z - (1 ¥ @7
77 78
(1) 80 < @_;V.“,v.é_m_.,.*"_u_i..?.As_:_:.;ff.nﬁ
(3) 78 4) 79 126. 10 +"
. . mnm.uz._.—u;.cu MR l<n
) ra)=7:6:3 BT
6. 3fe (a+b): (b+e):(C thett 7'b "¢ &
S 23
A 31634 h
2%, [..w”tn.w ,__A__U_\._.._._w . @)3:4:2
c : 431 !
1 : @2)3:2:4 o)
13:6:4 P S S Page # 27
3)4:3:6 Sl o
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%E%@@%w&f Minor Test-o3
127. 10000 &3 F HH TS TG T3} | | 127. Find the simple interest on anamount of Rs.10,00
6 I 71 TRV AT 1 - the rate of 5 paise per Rupee per month for 6 month,
(1) 1000%, (2) 15000 % (1) Rs. 1000 (2) Rs. 15000
(3) 3000%. (4) 2000 %, : (3) Rs. 3000 (4) Rs. 2000
128, @Ig Y 5% anfiss Gy TS & vy W3 59 % 230 | 128. The simple interest of some money at 5% annual rate
w4 7 Wt 8, @ 9w iy EiG ﬁ,w_.m' in 3 years are 230 Rupees, find the money?
(1) 180%. 2)200%. _po= ? (1) Rs. 180 (2) Rs. 200
(3) 240 %. 43207 47 (3) Rs. 240 (4)Rs. 320
129. AfGA:B=2:3 &n?olohm_ AMB:C3- ,“v*._w@. IfA:B=2:3and A:C=10:21,thenB:C=
(1Y a:7 (2)15:14 \\e%&\,mu (1) 5:7 2)15:14
(3) 14:15 4)7:5 Ve () 14:15 @7:5
130. < 686 % i = i § fawnfm fimar s %, f5% | 130. IfRs wm@ is divided into four parts whose ratios are
ww_r%mﬂw.m@u €, e W ) wm”m_fs_s:m%?gm%
O L8
(1) 48 . (2) 56 %. , 4 'B 29 (1) Rs.48 (2) Rs. 56
3) 52%. @427 T i G)eRs.52  @Rs.42
131, T Q) demell & qer o 2: 3%, S wemsi 4 | 131, The ratio _unﬂ.swmn any two numbers is 2 : 3, on adding
SIS R ST 7 : 10 § < ¥, A emsd # SR A | 4 to both the numbers the ratio becomes 7 : 10, then
Fife- find the difference of the numbers-
(1) 10 (2) 24 | Jqu (10 (2) 24 %
@) 12 (4)8 .a@% ) (3) 12 4)8
132. 0.16 31 0.64 = AT fohe €7 BV 132. What is the mean ratio of 0.16 and 0,647
(1) 0.27 (2) 0.32 . (1) 027 (2)0.32
(3) 0.40 (4) 0.48 (3) 0.40 (4) 0.48
133. U FAfYed H1eRo s &1 &x | SHREl 8 T U 299 | 133, Some money lent at a certain rate of simple interest
y TG 720 T. B ST € 3R S9F g ofTel 5 99 H increases to Rs.720 in 2 years and 1020 in the next 5
e 1020 . 7 St ©, @l e - years, then find the amount?
(1) 400%. (2)500% )R 408 e
(3) 200%. (4) 600, () Rs.200  (9Rs.600
- Kaiam Academy, Sikar | Jaipur Fags #0
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\

o0 A T Y T T et e
. %g%%&ﬁﬂ%ﬁﬂ@& 10% =nfif,
A U T | O G S 9 T e et 400
;4 T oA T O 9

(2) 2000 =.
(4) 3800 .

(1)4000%.

(3) 4200 7.

1

% e Y1 <1 FIEIOT AT, e 61 7 TR AN R T

T 1 FEATH T IR €, @ FIaw 916 w2

(2) 4%
(3) 5% 4) 7.5%
1%, 8000 %. =T T sﬁx,m_mmmﬁ@ﬂa%ﬁﬂg

(1) 2.5%

(2) Rs. 2000
(4) Rs. 3800

(3) Rs; 4200

imple 2 I
The maﬁ_ﬂaaﬁeqm msumgnlac_@_mnmnou

16
of .z_n principal and the numerical value of rate and

135.

time are equal, then find the percentage?
(1) 2.5% (2) 4%
(3) 5% (4) 7.5%
136.  In whattime an amount of Rs. 8000 at the rate of 10%

ound interest per annum becomes 9261. The

. comp
0061 %. B ST & | AT rgager T g A | o J T
.MM_.W omw_ = 2 - o.T %\p\o& interest is compounded half yearly?
ST 87 2 :
< | year (2) I year
21 L s (1) ly 2
LR = M (4) 3 years
CL A o interest on a certain sum at the rate of
(3) 2 =0 43 137, The compound , ;
19, o e iy T 10% T 2 o o RS T | 2 e R 2100. Wha il b the simple
* .n_A _. —Q -
N c o] AT Fl : { the same rate for the same period?
21007, % G GHM X R FAA ST A H o\ inferest 2
_ el ey 1600 (2) Rs. 1980
e 0 el
" 2\? =" 0L o (4) Rs. 2000
e B
(1) 1600 =. (2)1980%. oo €) “wa% b tween simpl interest and compound
(3) 1800 . (4) 2000 % Y R e . qanamount of 12000 R, for 2 yars is s
1 12000 %, =1 A_W_ 1 2 &4 ol ER e : a_n“._“_ he rate?
o 30 5. ¥ A < T A 3 A 2) 5%
<. ] Ay w—a
o (4) 8%
) 6%
€]
(1) 4o (2) 5% .
- =
%) 6% “) mo\“.\n j27° & . Page # 29
oot : .
Ned — e _,.\ -.....=$ __
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Minor Test-03

o 20% T o T
39. 13500 ¥, ¥ T 20% W% wxat
13 s € e z dﬂﬂ.ﬂmﬁ.ﬁa
o § fEwd 6 S, R ey WD i
oo = w2 LYU= 2 u
llur
(1) 14883.35%. T°*

(2) 14883 75

(4) 14883 %
140. ﬂdqrqh.._m.ﬂuﬂwﬂﬂ.ﬁ_y%ﬁ.n PR

ﬂ. ?\.\ﬁ
(3) 14883.50 %,

M i el ik
w3 el T R ey WA diin ' o .
TR 2T T
G R
s
a 7= (2) 21 N\\,wu
. e

(3) 28 =% _Ad) 42 =
141. Jﬁuﬂﬂﬂﬂﬂmﬂ?&.ﬁ%ﬁ%?@q
%ﬂ.&nﬂgﬂﬁ%ﬁw?ﬁwgaﬁw
7 ¥ = e T g fem w4y
(2) witfim we i

(4) 3w v fvmes

f

(1) o e

‘.m_ﬂuu“..u.an.dﬁ

ta

T 29 farw e W s €2
(1) v wAfagm

(3) Przez wirfagm

(4) wnmy wafgam

43, 1 e i T ) oy foregor el B ¥
faerrs us w4 frrsa #1510 fiyee 1 syl 13
87 eraamad & any w it e g W %
e ¢
() e forgy VI
(@) 381 foregun sgug
(3) Tt g,

Samﬁmaﬁ

130 What i¢ the total amount will become in 6 months at
ihe raté of interest at 20% of amount Rs. 13500, if the
-

0 interest is compounded quarterly

(1) Rs. 14883 15 (2) Rs. [4883.75

(3) Rs. 14883.50 (4) Rs. 14333
140. A sum of money becomes 9 times in 14 years at 3
certain rate of compound interest. then m what time
will become 27 times at the same rate?
(1) 7 years (2) 21 years
(3) Wyears  (4) 42 years
141, “Lesson plan is a title given to the statements of
achievements to be achieved and the specific methods
by which they are to be achieved as a result of daily
activities under the guidance of the teacher.” Who gave
this statement?
(1) N.L Bosing (2) Beaning and Beaning
(3) Carter v. Giood (4) Yoakam and Simpsen
142 Unit Approach is based on which psychology?
(1) Cognitive psychology
(2) Diagnostic m.&_ngr@_
(3) Gestalt psychology
(4) n.c._,:_s&_:m ?wa?rﬁ.«

143, Such a lesson plag approach which is designad o

present i front of $ 19 7 Mudent teachers of a duranon

oF 5+ 10 ey foe the deve

in pr

lopenent g HIprOVement
Wl of mathenytioy feaching skilly iy called-
(1) Meoad teaching Bppevach

() Mo _r.tr_rgm

Approach
(3) Harboriag approach

s (4) Momison Approach
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47,

257
c(JA

1)?
ﬂ,_ﬁmwﬂmﬁﬁ
[~

PELSIER

n ﬁ&uﬁ% TIH

o AT F SR S B e SHENs @ yaa

(1) 74 T Hiferer e

() faen T % 7 TEgE A A H
9%%&@ = AN
Emﬂ,_ﬂmﬁﬁ

7 1 Wit e g fmar | are e o

afd 781 &7 _
(1) 78 AT il FAHE
Em&.&ﬁ%ﬂg
()= 1 sraT GEA

(4 v 1 T & 3
im%aw%hmﬂ_s“ﬁ‘ﬁ%w%

(1) o =1 = WA

(2) weirerTees wman 1§

() s e & AT T

) 7w el
%aﬁmﬂ%ﬂ%@%%w@%ﬁ
ﬁﬂmﬁﬁammﬁ:&%fﬁl
:Eﬁﬁ.&ﬂdwu%ﬁmmmu%
agﬁﬁﬁﬁmﬂmﬂ%m&w&%%

) g g T ITIT T

zuﬁw_ya?mﬂ..,.

-3 | FH T FLITAT ¥ 3279 TET T U

) Not using tangple objects in the teaching process
(3) Lack of suitable evaluation method
(4) all of the above

146. The physical environment of the classroom may hinder
the learning process. Which of the following is not 2

problem related to the physical environment of the

classoom? .
( _;m% of sufficient light

(2) Iregular attendance of children
'(3) more HEB@Q of children

@ Damaged blackboard

147, Whatishrethe reason(s) for
v (1) The curmulative nature of

; f symbolic language
Q%bmh—nn 0 g 1 .
@ m.qanEN problems in Indian education

G)
. @allofe above
 tics curriculum

erma!
148. Em_w dhods and formulas

L axe mnn_m.@m
anxiety

EQ:E:

ot provide factual depth

2 o J.
%nm E:EE_E usc of motivation
@ ol oper practice of understanding and

‘fear’ of maths in children?

mathematics

%mm emphasizes knowledge
more than understanding can
nm_.moa. Such a curriculum is

. 1 ___g ~ ( ) | m
ﬂ -

(1)
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%_ g% wu_;_, qign e Amm%mom«.mr
149. w1ior fvgror # foreyer ot sToate T @ Heifew ey 37

(1) Treaq&reh s T fomn 7oA |

(2) | AT8T01 SHTiRAT I ST |

(3) 3o e = S ST AT T
S 7

(4) SR T+ |

150, 7 i Vet 8 A 5 T e § W
TEf 87
(1) foreneft 2 g g ol STl R
(2) 7 91 1 @ T e T
(3) T& i gy et g foRT ST R

(4 v 9 e e e g
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